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5(or 25) mm (w)  50 cm (l)  24 layers× ×

n_estimator 1000 
Max depth 100 
Edep > 10 MeV
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 1.40σnevt train: 50k, std dev 1.92, 

 1.34σnevt train: 100k, std dev 1.83, 

 1.29σnevt train: 200k, std dev 1.73, 

 1.27σnevt train: 300k, std dev 1.70, 

 1.25σnevt train: 400k, std dev 1.68, 

 1.25σnevt train: 500k, std dev 1.66, 

incident angle 10 deg
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 1.36σnevt train: 50k, std dev 2.12, 

 1.19σnevt train: 100k, std dev 1.85, 

 1.06σnevt train: 200k, std dev 1.66, 

 0.99σnevt train: 300k, std dev 1.59, 

 0.94σnevt train: 400k, std dev 1.52, 

 0.90σnevt train: 500k, std dev 1.47, 

incident angle 10 deg
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Moliere Radius (depth dependency)
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Backup
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Moliere Radius
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Moliere Radius (energy dependency)
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Scint: 5 mm 
Pb: 1 mm

Scint: 1 mm 
W: 0.15 mm
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Moliere Radius (depth dependency)
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